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1 Local apparent solar time

Consider a day on which the Sun passes directly above the equator. Two people, Alice and
Bob are at different locations along the equator. Bob is located 15° further east of Alice.

a) Alice observes that the Sun makes an angle of 45° east of the zenith. According to her
what time of day will it be?

b) Geometry shows that at the same instant, Bob observes that the Sun makes an angle of
30° east of the zenith. According to him, what time of the day will it be?

Some time passes and they repeat their observations at the same later instant.

¢) At this later instant Alice observes that the Sun makes an angle of 30° east of the Zenith
and Bob observes 15° east of the zenith. According to each what will the time be?

d) Do Alice and Bob agree on the time at any instant?

e) Do Alice and Bob agree on how much time passes between the instants?
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